Left edge

A4 T "‘ o of 1ul:|l;.'
| ! s | Frame 9
= Jeu [ !
o - - L by
= LN ., O
= o | " . L' Diam. Dril m
s e
| 3 | _ : G
- A+C MaK
) Cord
I Diam. Drill M2DG
e Cords
FIG. |
DRILLING OF TABLE
FOR TRANSMITTER DISTRIBUTOR
MOUNTING PLATE }
(Faosten plate by means of #10-32 x |
F.HM. Scr(P-160974)(4 req.)
(See Note 2)
#10-32 Hex. Nuts (P125918}(4 req.)
Lock Washers (P28508004 req.)
Holes marked A (4) are for |4A Mtq. Plates
Holes marked C(3) are for 14C Mtg. Plates
Right side _ Red Blac
/ut table [l
' A"}
Removed from
Conn. Blocks
ond toped -
seporately " d [
# 20 Drill To Fig. 3
Use switch box as / =
template when c D E F
spotted in recess s
in front right E yl e 3] rnq 1> <6 :
corner
ol =
T R A
N \
Front edge of table To Loop Swbd To Fig. 5
or to other contrg
arrangement
FIG. 2
DRILLING OF TABLE WIR
FOR POWER SWITCH . ELECTRI
AND LOOP, CON

(Fasten Switch by means of #£6- 32 x it
Binding Head Mach. Scr. (PI146320)(2 reg.)

(See Note 4)
#6-32 Hex. Nuts (P125952)(2 req.)
Lock Wosher (P2309I16)(2 req)



NOTES

rame 5 B 7 B 5 4 3 2 I
< < < < T-D 1 If Trans.- Dist. is locates
T Mtg center line will be 9 fro
['ﬁ l‘ [ Plate If Trans.- Dist. is to Ibﬁ' |
center line will be 4'/2"
G R ,Bh Wi L R W 1 If Trans. - Dist. is to be ¢
P - To Fig. 3 center line will be 13'%
R | N - ., ;
o B —— E F ™ 2 Retoin pad normally prc
(Term. B) (Term.5) 3 Fig-5 is representative,
o S S _ S B control desired, such os
- - c 5 <+ Strop key, relay circuit, etc.
‘H_—qf . - _ 4 Trumbull Tumbler starte
l‘:‘ ;’g-ﬁ To Fig.4 FIG. 6 H& H type NF Line star
9 HHEHEDHTSEE;PEMHN.&L General= The arrangeme
FIG. 3 CONTROL IS REQUIRED  OPPropriate changes, cor
. mounting equipment.
LOOP, CONTROL POWER CONNECTIONS
ELECTRICAL SERVICE ASSEMBLY
Switch
per Fig. & T-—l
e |
Black Type S 26 [
o Tirex I
Vv D h or aquiv. |
- me—— r-"'ln [ | L I"I J
| p [-==tet——qd -
| Fig. :D: 1' II : :
4 | B I I
I xﬂ-_- L —__lq_t_j L4LhJP-.--—.
| 'ﬁ \ Separabl
Eal L or Cord
| nto o s
i FIG. 5
5 96 /7T 28 99 Grd ’ TELETYPEWRITER OR OTHER
roired g [ TRANS.-DIST. CONTROL
gired inside (Shown for No. 1S TTY)
B = Prot. Grd.
A " telephone wiring g - 'll'l'IE.'I'ITEJ-:I (Note 3)
_/ i 4
To Fig. 5 TO POWER SUPPLY
to other control
arrangement
FIG. 4

WIRING OF TP 126287
ELECTRICAL SERVICE ASSEMBLY
ND LOOP, CONTROL AND POWER CONMNECTIONS



To Fig. 3
< E F ™
erm. 8] (Term. 5)

I: - |---S'rrap

FiG. 6

CONNECTION
EN NO EXTERNAL

TROL IS REQUIRED

ype S
irex
equiv
— | < B
i To
| Fig.
1 4 B
| .
|
|
|
=Grd. side
Prot. Grd.
when redq.
PLY

BELL SYSTEM PRACTICES
TELETYPEWRITER STATION
INSTALLATION AND MAINTENANCE

NOTES

1 If Trans.— Dist, is located centrally on table,
center line will be 9 from left edge of toble.
If Trans.— Dist. is to be on left side of table,
center line will be 4'/2" from left edge of table.
If Trans. - Dist. is to be on right side of table,
center line will be 135" from left edge of table.
2 Retain pad normally provided with table.

3 Fig.5 is representative, could use any other
confrol desired, such 0s a manually operoted

key, reloy circuit, etc.

4 Trumbull Tumbler starter switch # 2228 or

SECTION PS0. 315
ISSUE 2 MAY, 1956
A.TBT.CO. STANDARD

T
2— 1112 Hubbell Cord Grips

H8 H type NF Line starting switch # 6808 and ———@ | — Clamp, Cable # 7 (Spec. ATE933)

General = The arrangements shown here on, with
appropriate changes, can be apphied to other

mounting equipment.

Trans. Dist,
-+ Control Contacts

| in TTY
| |
43
m r1 r= I I
i i i ____l E-I L—_'l' ]__J I
b b |
e I
J_1
———dot——a 54 e —— — ]
— (I s_*J
"'.,L u Separable Connector
———or Cord plugged
into a spare jock
FIG. 5

TELETYPEWRITER OR OTHER
TRANS.-DIST. CONTROL
(Shown for No. 15 TTY)

{Note 3)

| — P—205653 RHM. Ser. L164-32x 5]
| = P-206518 Hex. Nut (.164-32)
|- P-221761 Lock Washer

| =M4K Cord (26 ]

|-~M2D6G Cord (2'6"7)

| =14C Mounting Plate

| = Fusetron T3.2A

| — KST7993 Cord (10']
2—P-230916 Lock Woshers
2—P-125952 #6-32 Hex. Nuts

2 — P- 146320 # 6-32xYj5 BHM. Screw
4—P-160853 #8—32x] RH.M. Screw
4— P— 206518 #£8—32 Hex.Nuts

E-ﬂr— P—221761 Lock Washers

TELETYPEWRITER SYSTEMS

NOS 14 & 20 TRANS. DIST. ON XRT 200 TABLE

POWER AND START MAGNET CONTROL
MODIFICATION OQF TABLE



